

Stability of Picard – S Iteration processes for ξ – Uniformly Accretive Mapping.

Shahla Abd AL-Azeaz Khadum

Directorate General of Education Baghdad' s Karkh Third/Ministry of Education

Abstract:

In this paper , we study the stability and the strong convergence to unique fixed point of ξ – uniformly accretive mapping by using picard – S Iteration process in Banach space.

Keywords: picard – S Iteration , φ – Uniformly Accretive , B – Stabilitly

1.Introduction:

Osilike [1], established the stability results of Mann and Ishikawa iterations for Lipschitz strongly pseudocontractive self mapping in uniformly smooth Banach space. Also Osilike [2], established the stability results of Mann and Ishikawa iterations for ξ – strongly pseudocontractive self mapping in Banach space.

On the other hand , Zeqing , Lili and shin [3] , established the convergence result to the unique fixed point of strongly pseudocontractive self mapping in Banach space by Ishikawa iteration with errors , then he proved the stability results of this iteration . Liu , Xu and Kang [4] proved that Ishikawa iteration converge strongly to the unique fixed point of locally strongly pseudocontractive self mapping in uniformly smooth Banach space, then he proved the stability results of this iteration.

2.Preliminaires:

In this section , some basic definitions and lemmas which needed are presented

Definition(2. 1), [5]

Let H is a normed space . A mapping $B:H \rightarrow H$ is said to be lipschitzian if $\exists L > 0$ such that $\|Bx - By\| \leq L \|x - y\|$, $\forall x, y \in H$.
... (1)

Definition(2. 2), [4]

Let H is a normed space with the dual space H^* and the mapping $J:H \rightarrow 2^{H^*}$ is defined by

$J(x) = \{f \in H^* : \langle x, f \rangle = \|f\| \|x\|, \|f\| = \|x\|\}, \forall x \in H$ is said to be normalized duality mapping, where f is a linear function.

Definition(2.3), [6]:

Let H is a normed space and D is a nonempty subset of H .

A mapping $B: D \rightarrow D$ is said to be ξ – Uniformly Accretive. If \exists strictly increasing $\xi: [0, \infty[\rightarrow [0, \infty[$ with $\xi(0) = 0$ such that

$$\langle Bx - By, j(x - y) \rangle \geq \xi \|x - y\| \quad \forall x, y \in B \quad \dots (2)$$

Definition(2.4), [7]:

Let H is a normed space, D is a nonempty subset of H and $B: D \rightarrow D$ is a mapping, for $x_0 \in D$. If the sequence $\{x_n\}$ define by

$$\begin{aligned} x_{n+1} &= By_n \\ y_n &= (1 - \tau_n) z_n + \tau_n Bz_n \\ z_n &= (1 - \omega_n)x_n + \omega_n Bx_n, \forall n \geq 0 \end{aligned} \quad \dots (3)$$

Then $\{x_n\}$ is said to be S - iteration process of B with two sequences $\{\tau_n\}$ and $\{\omega_n\} \subset [0, 1[$.

Lemma(2.5), [8]and[9]

Let H is a normed space and $J: H \rightarrow 2^{H^*}$ the duality mapping. Then
(i) $\|x + y\|^2 \leq \|x\|^2 + 2\langle y, j(x + y) \rangle \quad \forall x, y \in H$ and $\forall j(x + y) \in J(x + y)$.

(ii) $\langle y, j(x) \rangle \leq \|y\| \|x\| \quad \forall y \in H$ and $\forall j(x) \in J(H)$

Definition(2.6), [4]:

Let H is real Banach space, D is a nonempty subset of H and $B: D \rightarrow D$

is a mapping, for $x_0 \in D$ and $\{x_n\} \subset B$ defined by $x_{n+1} = f(B, x_n) \quad \dots (4)$

Suppose that $F(B) = \{x \in H: Bx = x\} \neq \emptyset$ and $\{x_n\} \rightarrow \rho \in F(B)$. Let $\{y_n\}$ is a sequence in D and $\{\eta_n\}$ is a sequence in $[0, \infty[$ defined by $\eta_n = \|y_{n+1} - f(B, x_n)\|, \forall n \geq 0$. If $\eta_n \rightarrow 0$ implies that $\{y_n\} \rightarrow \rho$, then the sequence $\{x_n\} \subset B$ defined by (4) is said to be B -stable.

Lemma(2.7), [10]

Let $\{\xi_n\}$ is a sequence in $[1, \infty[$ and $\{\varpi_n\}$ is a sequence in $[0, 1]$ and $\sum_{n=1}^{\infty} \varpi_n = \infty$. If \exists strictly increasing $\xi: [0, \infty[\rightarrow [0, \infty[$ such that

$\zeta_{n+1}^2 \leq \zeta_n^2 - \varpi_n \varphi(\zeta_{n+1}) + \varepsilon_n, \forall n \geq n_0$, where $n_0 \in N$ and $\varepsilon_n = O(\varpi_n)$, then

$\zeta_n \rightarrow 0$ as $n \rightarrow \infty$.

3. Main Threorem

In this section , by using picard – S Iteration process ,the stability and the strong convergence to unique fixed point of ξ – uniformly accretive mapping in Banach space are presented .

Theorem(3. 1):

Let D is a nonempty convex and bounded subset of a real Banach space H and $B:D \rightarrow D$ is lipschitzian and ξ – uniformly accretive mapping . Let $\{x_n\}$ define as in(3) with the sequences $\{\tau_n\}$ and $\{\omega_n\} \in (0,1)$ satisfying the following

- (i) $\lim_{n \rightarrow \infty} \tau_n = 0$ (ii) $\lim_{n \rightarrow \infty} \omega_n = 0$.
- (iii) $\sum_{n=1}^{\infty} \tau_n = \infty, \forall n \in N$. If $F(B) \neq \emptyset$, then $\{x_n\}$ converges strongly to the unique fixed point of B .

Proof:

From conditions (3)and(1), then

$$\begin{aligned} \|x_{n+1} - \rho\|^2 &= \|By_n - B\rho\|^2 \\ &\leq L^2 \|y_n - \rho\|^2 \\ &\leq L^2 \|(1 - \tau_n) z_n + \tau_n Bz_n - \rho\|^2 \\ &= L^2 \|(1 - \tau_n)(1 - \omega_n)x_n + (1 - \tau_n) \omega_n Bx_n + \tau_n Bz_n - \rho\|^2 \\ &\leq L^2(1 - \tau_n)^2(1 - \omega_n)^2 \|x_n\|^2 + L^2 \|(1 - \tau_n) \omega_n Bx_n + \tau_n Bz_n - \rho\|^2 \\ &\leq L^2(1 - \tau_n)^2(1 - \omega_n)^2 Q_1 + L^2 \|(1 - \tau_n) Bx_n + \tau_n Bz_n - \rho\|^2 \end{aligned}$$

Where $Q_1 = \sup \|x_n\|, \forall n \geq 0$

From codition (3), lemma {(2.5), (i) }, conditions (1)and(2) and lemma {(2.5), (ii) }, then

$$\begin{aligned} \|x_{n+1} - \rho\|^2 &= L^2 \|(1 - \tau_n) Bx_n + \tau_n Bz_n - \rho\|^2 \\ &\quad + L^2(1 - \tau_n)^2(1 - \omega_n)^2 Q_1 \\ &= L^2 \|(Bx_n - \rho) - \tau_n(Bx_n - Bz_n)\|^2 + L^2(1 - \tau_n)^2(1 - \omega_n)^2 Q_1 \\ &\quad \leq L^2 \|(1 - \tau_n)(Bx_n - \rho) - \tau_n(Bx_n - Bz_n)\|^2 \\ &\quad \quad + L^2(1 - \tau_n)^2(1 - \omega_n)^2 Q_1 \\ &\leq (1 - \tau_n)^2 \|Bx_n - \rho\|^2 - 2\tau_n \langle Bx_n - Bz_n, j(x_{n+1} - \rho) \rangle \\ &\quad + L^2(1 - \tau_n)^2(1 - \omega_n)^2 Q_1 \\ &\leq (1 - \tau_n)^2 L^2 \|Bx_n - \rho\|^2 - 2\tau_n L^2 \langle Bx_{n+1} - \rho, j(x_{n+1} - \rho) \rangle \\ &\quad + 2\tau_n L^2 \langle Bz_n - \rho, j(x_{n+1} - \rho) \rangle \\ &\quad + 2\tau_n L^2 \langle Bx_{n+1} - Bx_n, j(x_{n+1} - \rho) \rangle + L^2(1 - \tau_n)^2(1 - \omega_n)^2 Q_1 \\ &\leq (1 - \tau_n)^2 L^4 \|x_n - \rho\|^2 - 2\tau_n L^2 \xi \|x_{n+1} - \rho\| \\ &\quad + 2\tau_n L^3 \|z_n - \rho\| \|x_{n+1} - \rho\| + 2\tau_n L^3 \|x_{n+1} - x_n\| \|x_{n+1} - \rho\| \\ &\quad + L^2(1 - \tau_n)^2(1 - \omega_n)^2 Q_1 \\ &= (1 - \tau_n)^2 L^4 \|x_n - \rho\|^2 - 2\tau_n L^2 \xi \|x_{n+1} - \rho\| \end{aligned}$$

$$\begin{aligned}
 &+ \tau_n L^3 \{ \|z_n - \rho\|^2 + \|x_{n+1} - \rho\|^2 \} + 2\tau_n L^3 \|x_{n+1} - x_n\| \|x_{n+1} - \rho\| \\
 &\quad (1 - \tau_n L^3) \|x_{n+1} - \rho\|^2 \leq (1 - \tau_n)^2 L^4 \|x_n - \rho\|^2 - 2\tau_n L^2 \xi \|x_{n+1} - \rho\| \\
 &\quad \quad + \tau_n L^3 \|z_n - \rho\|^2 + \tau_n L^3 \|x_{n+1} - x_n\| Q_2 \\
 &+ L^2 (1 - \tau_n)^2 (1 - \omega_n)^2 Q_1
 \end{aligned}$$

Where $Q_2 = \sup \|x_{n+1} - \rho\|$, $\forall n \geq 0$

Since D is bounded set in H and $\|z_n\|, \|Bz_n\|, \|z_{n-1}\|$ and $\|Bz_{n-1}\|$ in D , then $\{\|z_n\|, \|Bz_n\|, \|z_{n-1}\| \text{ and } \|Bz_{n-1}\|\}$ are bounded sequences. It follows from condition (3), and $(\tau_n \text{ and } \omega_n \rightarrow 0 \text{ as } n \rightarrow \infty)$. We get

$$\begin{aligned}
 \|x_{n+1} - x_n\| &= \|By_n - By_{n-1}\| \\
 &= L \|y_n - y_{n-1}\| \\
 &= L \|y_n\| + L \|y_{n-1}\| \\
 &= L \|(1 - \tau_n) z_n + \tau_n Bz_n\| + L \|(1 - \tau_{n-1}) z_{n-1} + \tau_{n-1} Bz_{n-1}\| \\
 &= L(1 - \tau_n) \|z_n\| + \tau_n \|Bz_n\| + L(1 - \tau_{n-1}) \|z_{n-1}\| + \tau_{n-1} \|Bz_{n-1}\| \\
 &= L(1 - \tau_n) \|z_n\| + \tau_n \|Bz_n\| + L(1 - \tau_{n-1}) \|z_{n-1}\| + \tau_{n-1} \|Bz_{n-1}\| \\
 &\rightarrow 0 \text{ as } n \rightarrow \infty.
 \end{aligned}$$

From conditions (3) and (1), we get

$$\begin{aligned}
 \|z_n - \rho\| &= \|(1 - \omega_n)(x_n - \rho) + \omega_n(Bx_n - \rho)\| \\
 &\leq (1 - \omega_n) \|x_n - \rho\| + \omega_n \|Bx_n - \rho\| \\
 &\leq (1 - \omega_n) \|x_n - \rho\| + \omega_n L \|x_n - \rho\| \\
 &= \{(1 - \omega_n) + \omega_n L\} \|x_n - \rho\| \\
 \|z_n - \rho\|^2 &= \{(1 - \omega_n)^2 + 2\omega_n L(1 - \omega_n) + \omega_n^2 L^2\} \|x_n - \rho\|^2 \\
 \tau_n L^3 \|z_n - \rho\|^2 + (1 - \tau_n)^2 L^4 \|x_n - \rho\|^2 &= K_n \|x_n - \rho\|^2
 \end{aligned}$$

Where,

$$\begin{aligned}
 K_n &= L^4 - \tau_n L^3 - 2\tau_n \omega_n L^3 + \tau_n \omega_n^2 L^3 + 2\tau_n \omega_n L^4 - 2\tau_n \omega_n^2 L^4 + \\
 &\tau_n \omega_n^2 L^5 + \tau_n^2 L^4 \\
 \|x_{n+1} - \rho\|^2 &
 \end{aligned}$$

$$\begin{aligned}
 &\leq \frac{K_n}{V_n} \|x_n - \rho\|^2 - \frac{2\tau_n L^2 \xi \|x_{n+1} - \rho\|}{V_n} \\
 &\quad + \frac{\tau_n L^3}{V_n} \|x_{n+1} - x_n\| Q_2 \\
 &+ \frac{L^2 (1 - \tau_n)^2 (1 - \omega_n)^2 Q_1}{V_n} \dots (5)
 \end{aligned}$$

$$V_n = (1 - \tau_n L^3)$$

Since $\tau_n \rightarrow 0$ as $n \rightarrow \infty$, $\exists n_0 \in N$ such that $V_n \leq 1, \forall n \geq n_0$. therefor, it follows from (5) that

$$\begin{aligned}
 \|x_{n+1} - \rho\|^2 &= \|x_n - \rho\|^2 - 2\tau_n L^2 \xi \|x_{n+1} - \rho\| \\
 &\quad + \tau_n \{L^3 \|x_{n+1} - x_n\| Q_2 + W_n Q_3\} + L^2 (1 - \tau_n)^2 (1 - \\
 &\omega_n)^2 Q_1
 \end{aligned}$$

, $Q_3 = \sup \|x_n - \rho\|^2$ Where

$$W_n = \frac{\tau_n L^4}{\tau_n^2} - 2 \omega_n L^3 + \omega_n^2 L^3 + 2 \omega_n L^4 - 2 \omega_n^2 L^4 + \omega_n^2 L^5 + \tau_n L^4, \forall n \geq n_0$$

Since $\tau_n \rightarrow 0$ and $\omega_n \rightarrow 0$ as $n \rightarrow \infty$, we get $W_n \rightarrow 0$ as $n \rightarrow \infty$ and $L^2(1 - \tau_n)^2(1 - \omega_n)^2 Q_1 \rightarrow 0$ as $n \rightarrow \infty$.

Let us denote $\zeta_n = \|x_n - \rho\|^2$
 $\bar{\omega}_n = 2 \tau_n$

And using lemma (2.7), we get $\zeta_n \rightarrow 0$ as $n \rightarrow \infty$.

Assume that ρ_1 and $\rho_2 \in F(B)$. Since B is ξ – uniformly accretive mapping, there exists

$j(\rho_1 - \rho_2) \in J(\rho_1 - \rho_2)$ such that

$$\|\rho_1 - \rho_2\|^2 = \langle (B\rho_1 - B\rho_2), j(\rho_1 - \rho_2) \rangle \geq \xi \|\rho_1 - \rho_2\|.$$

We get $\|\rho_1 - \rho_2\|^2 \geq \xi \|\rho_1 - \rho_2\|$. This implies that $\rho_1 = \rho_2$.

Now, we prove the main result

Theorem(2) : Assume that H, D and B as in the Theorem (1) and $F(B) \neq \emptyset$. Let $\{x_n\}$ is a sequence define by, for $x_0 \in D$,

$$\begin{aligned} x_{n+1} &= Bk_n \\ k_n &= (1 - \tau_n) z_n + \tau_n Bz_n \\ z_n &= (1 - \omega_n)x_n + \omega_n Bx_n, \forall n \geq 0 \end{aligned} \quad \dots (6)$$

with the sequences $\{\tau_n\}$ and $\{\omega_n\} \in (0,1)$ satisfying the following

(i) $\lim_{n \rightarrow \infty} \tau_n = 0$ (ii) $\lim_{n \rightarrow \infty} \omega_n = 0, \forall n \in N$.

Let $\{y_n\}$ is a sequence in D Define $\{\eta_n\} \subset [0, \infty[$ by

$$\begin{aligned} \vartheta_n &= (1 - \omega_n)y_n + \omega_n B y_n \\ \eta_n &= \|y_{n+1} - (1 - \tau_n)\vartheta_n - \tau_n B\vartheta_n\|^2, \forall n \geq 0 \end{aligned} \quad \dots (7)$$

Then

(1) $\lim_{n \rightarrow \infty} \|x_n - \rho\| = 0, \rho \in F(B)$.

(2) $\|y_{n+1} - \rho\|^2 \leq \|y_n - \rho\|^2 - 2\tau_n L^2 \xi \|y_{n+1} - \rho\| + \eta_n + \tau_n \{L \|y_{n+1} - y_n\| Q_2 + W_n \|y_n - \rho\|^2\} + L^2(1 - \tau_n)^2(1 - \omega_n)^2 Q_1$

Where

$$W_n = \frac{\tau_n L^4}{\tau_n^2} - 2 \omega_n L^3 + \omega_n^2 L^3 + 2 \omega_n L^4 - 2 \omega_n^2 L^4 + \omega_n^2 L^5 + \tau_n L^4, \forall n \geq n_0$$

(3) $\lim_{n \rightarrow \infty} y_n = \rho \leftrightarrow \lim_{n \rightarrow \infty} \eta_n = 0$.

Proof :

From Theorem (1), we get $\lim_{n \rightarrow \infty} \|x_n - \rho\| = 0, \rho \in F(B)$. Then the proof of (1) is completed

By use condition (7), then

$$\|y_{n+1} - \rho\|^2 \leq \eta_n + \|(1 - \tau_n)\vartheta_n + \tau_n B\vartheta_n - \rho\|^2 \quad \dots (8)$$

Let $\gamma_n = (1 - \tau_n)\vartheta_n + \tau_n B\vartheta_n$, then $(1 - \tau_n)\vartheta_n = \gamma_n - \tau_n B\vartheta_n$

As the proof in Theorem (1), then

$$\|\gamma_n - \rho\|^2 \leq \|y_n - \rho\|^2 - 2\tau_n L^2 \xi \|y_{n+1} - \rho\| + \eta_n$$

$$+ \tau_n \{ L^3 \|y_{n+1} - y_n\| Q_2 + W_n \|y_n - \rho\|^2 \} + L^2(1 - \tau_n)^2(1 - \omega_n)^2 Q_1 \dots (9)$$

Where $Q_1 = \sup \|y_n\|$ and $Q_2 = \sup \|y_{n+1} - y_n\|, \forall n \geq 0$

$$W_n = \frac{\tau_n L^4}{\tau_n^2} - 2 \omega_n L^3 + \omega_n^2 L^3 + 2 \omega_n L^4 - 2 \omega_n^2 L^4 + \omega_n^2 L^5 + \tau_n L^4, \forall n \geq n_0$$

Hence $\|y_{n+1} - \rho\|^2 = \|y_n - \rho\|^2 - 2\tau_n L^2 \xi \|y_{n+1} - \rho\| + \eta_n + \tau_n \{ L^3 \|y_{n+1} - y_n\| Q_2 + W_n Q_3 \} + L^2(1 - \tau_n)^2(1 - \omega_n)^2 Q_1$

Where $Q_3 = \sup \|y_n - \rho\|^2, \forall n \geq 0$. Then the proof of (2) is completed

Now suppose that $\lim_{n \rightarrow \infty} y_n = \rho$. Then

$$\begin{aligned} \eta_n &= \|y_{n+1} - (1 - \tau_n)\vartheta_n - \tau_n B\vartheta_n\|^2 \\ &\leq \|y_{n+1} - \rho\|^2 + \|(1 - \tau_n)\vartheta_n - \tau_n B\vartheta_n - \rho\|^2 \\ &\leq \|y_{n+1} - \rho\|^2 + \|y_n - \rho\|^2 - 2\tau_n L^2 \xi \|y_{n+1} - \rho\| \\ &\quad + \tau_n \{ L^3 \|y_{n+1} - y_n\| Q_2 + W_n Q_3 \} \end{aligned}$$

It is clear that $\eta_n \rightarrow 0$ as $n \rightarrow \infty$.

Next, suppose that $\lim_{n \rightarrow \infty} \eta_n = 0$. From (8) and (9), then

$$\|y_{n+1} - \rho\|^2 = \|y_n - \rho\|^2 - 2\tau_n L^2 \xi \|y_{n+1} - \rho\| + \eta_n + \tau_n \{ L^3 \|y_{n+1} - y_n\| Q_2 + W_n Q_3 \} + L^2(1 - \tau_n)^2(1 - \omega_n)^2 Q_1$$

Which mean that $y_n \rightarrow \rho$ as $n \rightarrow \infty$ according to lemma (2.7). Then the proof of (2) is completed.

4. conclusions

the stability of picard – S Iteration for a fixed point of ξ – uniformly accretive mapping has been established in Banach space. Also picard – S Iteration converge strongly to unique fixed point of ξ – uniformly accretive mapping.

Reference :

[1] Osilike M. O. , Stable Iteration Procedure for Strongly Pseudocontractive and Accretive operator in Arbitrary Banach space , Indian J. Pur. Appl. Math., Vol. 28, No.28 ,pp.1017-1029,1997.
 [2] Osilike M. O., Stability of the Mann and Ishikawa iteration Procedures for ξ – strongly pseudocontractive and Nonlinear Equations of the ξ – strongly Accretive Type ,J. Math . Anal . and Appl . 227,319-334 ,1988.
 [3] Zeqing L. , Lili Z. and shin M. K. , Convergence Theorems and Stability results for Lipschitz strongly pseudocontractive operators , I. J . Math. Vol. 10, pp.611-617,2002.
 [4] Liu Z. , Xu Y . and Kang S.M. , Almost Stable Iteration Scheme for Local Strongly Accretive Operators in real Uniformly Smooth Banach spaces .Acta Math .Univ . Comenianae Vol. LXXVII,2(2008),PP.285-298.2008.
 [5] Chidume C. E. , Iterative Approximation of Fixed Points of Lipschitz Strictly Pseudocontractive Mappings, Proc . Amer . Math. Soc. 99(2),283-288 ,1987.

- [6] Soltus S. M. and Rhoades B.E. , Characterization For The Convergence Of Krasnoselskij Iteration For Non- Lipschitzian Operatortors ,International J. of Math. And Math .Science , Vol.(10),No.(1155), (2008).
- [7] Gursoy F., A Picard –S Iterative Scheme for Approximation Fixed Points of Weak Contraction Mappings . arXiv:1404.0241v1[math .FA],2014
- [8] Xue Z. and Lv G., Strong Conergence Theorem for Uniformly L-lipschitzian Asymptotically Pseudo contractive Mappings in Banach Spaces, Journal of Inequlities and Applications.
- [9] Alao M. A. , Modified Noor Iterative for Three Asymptotically Pseudocontractive Maps ,Int. J. Open Problems Compt. Math .,Vol. 6,No.1,2013.
- [10] Rafiq A. , Acu A. M. and Sofonea F., An Iterative Algorithm for Two Asymptotically Pseudocontractive Mappings ,Int. J. Open Problems Math .,Vol. 2,No.3, 2009

الاستقرار للعمليات التكرارية من نمط بيكارد – أس للتطبيق المتسق الموحد.

شهلاء عبد العزيز كاظم حسن

المديرية العامة لتربية بغداد الكرخ الثالثة/وزارة التربية

المستخلص:

في هذا البحث ندرس الاستقرار والتقارب للنقطة الصامدة الوحيدة للتطبيق الانكماشى المتسق بشكل موحد باستخدام المتابعة التكرارية من نمط بيكارد – أس في فضاء بناخ .